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	_ 2OOx OG „

	<2

	or Pi = 10 W.

	v

	19-95


	1 = R ee/CR

	f =	1	

	f p ’277x5x103x2x10-6x4x10-4

	C5	C1 + C2	2 + 3	1 2/<F’

	r R1 + R2 92-8


	T.	„	ik 1 a • 500(5 +-¡4)	5 + -v

	(5+j4-/ l	\/9 + j40\ (360 -j880\V

	\ 2 ) k36-+j480.)	V 4 A360-+4802/

	Zo 2 Jé>om“

	0=W-

	.,, V _	2433	 _ 129 km/s

		lo	.



	22

	_ 1+A t m = 0'<_67W'

	60 x 60 x 150 ms = 9min.

	" total 0^ = 9 + 1000 X 60mm’

	.fL ~f'.

	Qm R-g/h, ^pn

	an ^^XWOO^^Ô = ^mba*

	TBC.0 F/w = 0-4 X 36 x 50 = 720 N.


	TCd = ,v1= 0’4 x 55 x 28 = 560N

	4’57 < 5 6


	f“	m/.LCAu)’

	. 2p52 = )ng


	,¡#_)O» 1 103 1 1200 1 103 x 60 1 10-12

	fo *	T0?10-12 xO33 x 10392 =1234-7 kHz.


	and	2 = 2(dr + fm) = 2 (* + +) ■

	■ ‘. f = fdmtnxx COS 25”dr


	(«)

	2p2x + ^2 = Zfllx + 95i + 2w, where fz >fl.

	= 0-133 rad/krn.

	L = I mH/km



	(R + j(oLL(G G jeu j) = JJiLjcc(

	jtu4 +jcoG

	R+joL = 30+55000 > 11-3 = 31+j5 = 30’414^946"

	= 1000 x j0-6 —88-84“.

	y=jw/(LC){1 i^^lmc»
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